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Vol =
FER N E
TH4 | A6 FEIRENE - V8 SHERHIRFTE N X st T4
TEHEX Sy - THE - R B {7 ¥ = & F il pall 2! R
B FEHERT X 1 10, 802, 805
Bh AT L 2 1 202, 700
PEANIBA AT L 2 1 202, 700 |37 =} b=y 10 m
Gr-A—4E
A,
SN = 1 203, 700
/NIRRT =X 1 203,700 |fHaEkAR 5 *e
PRI T RERR 120X 720 H7 UV VA A ;
[Hi#R T 2 1 9, 630, 215
[LTp 2 1 2, 111,290 | ¥A b= mi#E 1,100 m
I 328 W=15cm JE1. 5mm HEKMESHLE
e il = X R 1,680 m
Hf FERE W=15cm JE1. Smm ;
e il = X R 1,100 m
H iR W=15cm JE1. 5mm ;
e il = X R 270 m
Bt ©7 777 W=15cm JE1. bmm HPEAKPEEHEER ;
e il = X R 1,100 m
M 777 W=15cm JE1. 5mm ;
X IR T X 1 205, 488 | FA LK iR 230 m
Hf FERE W=30cm JE1. 5mm ;
a2 X R 40 m
M 777 W=30cm JE1. 5mm ;
X IR T 2 1 2,859,904 | VA L= H#E 1,100 m
Ff 328 W=15cm JZ1. 5mm HEKMESHLE
a2 X R 1,680 m
Hf FERE W=15cm JE1. Smm ;
a2 X R 1,100 m
Ff kR W=15cm JE1. bmm HEAKPEEREE A
VA X R 270 m
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Vax, =
FER N E
TH4 | A6 FEIRENE - V8 SHERHIRFTE N X st T4
TEHEX Sy - THE - R B {7 ¥ & & # il bl A iR
H 777 W=15cm JE1. bmm HEKPHEEHEER
a2 X R 1,680 m
M 777 W=15cm JE1. 5mm ;
X [ L 2 1 1,048,101 | ¥Amb=X i 170 m
M FE54 W=15cm E1. bmm HEAMEEREE |
e il = X R 170 m
F ER W=15cm JE1. bmm ;
e il = X R 170 m
M FE4E W=45cm JE1. bmm HEAMEEREE |
e il = X R 170 m
F ERE W=45cm JE1. bmm ;
e il = X R 170 m
B 775 W=15cm JE1. 5mm HEAKPEEREER |
e il = X R 170 m
M 777 W=15cm JE1. 5mm ;
e il = X R 170 m
H 777 W=45cm JE1. bmm HEKPEEHEEA
ST ER W EATHIF 170 m
M 77 W=45cm JE1. 5mm ;
X [ L 2 1 1,577,592 | ¥Amb=X i 1, 680 m
B RKE-FL5 - 305 W=15em# i JE 1. 5mm B
IRMESREEA
TR X R 40 m
Hf REI-FL5 - 30F W=15emifi JE 1. 5Smm ;
X E R L = 1 1,827,840 |[XHEFRIEZE 1, 680 m
V4= 2y b W=15emif A
HEAT B MR T = 1 275, 600
EATEY L = 1 275,600 | HLARSY BEIE 10 i
AT IR ¢80 H=800 HEEFE ¢ 250 ;
% T = 1 490, 590
AR IEE BT 2 1 490, 590
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[P % 2V 1 10, 802, 805
Hm IR E E20 1 2, 641, 000
e Tre: X 1 365, 000
BUGBREIUEL (REH L) 2V 1 365, 000
sty (R L) 2V 1 2, 276, 000
ol T 2V 1 13, 443, 805
e R E20 1 8, 285, 000
T AT 2V 1 37, 173, 505
— e PR E20 1 6, 666, 495
N E20 1 43, 840, 000
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Vol =
FER N E
TH4 | A6 FEIRENE - V8 SHERHIRFTE N X st T4
TEHEX Sy - THE - R B {7 ¥ = & F il pall 2! R
B FEHERT X 1 7, 305, 700
Bh AT L 2 1 202, 700
PEANIBA AT L 2 1 202, 700 |37 =} b=y 10 m
Gr-A—4E
Hf
SN = 1 203, 700
/NIRRT =X 1 203,700 |fHaEkAR 5 *e
PRI T RERR 120X 720 H7 UV VA A ;
[Hi#R T 2 1 6, 309, 450
[LTp 2 1 1,409, 028 | ¥R X R 740 m
Ffa SE4R W=15cm JE1. 5mm PEAKMESHEE FH
e il = X R 1,100 m
Hf FERE W=15cm JE1. Smm ;
e il = X R 740 m
H iR W=15cm JE1. 5mm ;
e il = X R 180 m
Bt ©7 777 W=15cm JE1. bmm HPEAKPEEHEER ;
e il = X R 740 m
M 777 W=15cm JE1. 5mm ;
X IR T X 1 145,680 | ¥AmRhAX iR 150 m
Hf FERE W=30cm JE1. 5mm ;
a2 X R 40 m
M 777 W=30cm JE1. 5mm ;
ESETE = 1 1,895,202 | ¥AHl=X i 740 m
Ff 328 W=15cm JZ1. 5mm HEKMESHLE
a2 X R 1,100 m
Hf FERE W=15cm JE1. Smm ;
a2 X R 740 m
Ff kR W=15cm JE1. bmm HEAKPEEREE A
VA X R 180 m
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Vax =
FER N E
TH4 | A6 FEIRENE - V8 SHERHIRFTE N X st T4
TEHEX Sy - THE - R B {7 ¥ & & # il bl A iR
H 777 W=15cm JE1. bmm HEKPHEEHEER
a2 X R 1,100 m
M 777 W=15cm JE1. 5mm ;
X IR T 2 1 616,530 | AR iR 100 m
M FE54 W=15cm E1. bmm HEAMEEREE |
e il = X R 100 m
F ER W=15cm JE1. bmm ;
e il = X R 100 m
M FE4E W=45cm JE1. bmm HEAMEEREE |
e il = X R 100 m
F ERE W=45cm JE1. bmm ;
e il = X R 100 m
B 775 W=15cm JE1. 5mm HEAKPEEREER |
e il = X R 100 m
M 777 W=15cm JE1. 5mm ;
e il = X R 100 m
H 777 W=45cm JE1. bmm HEKPEEHEEA
e il = X R 100 m
M 77 W=45cm JE1. 5mm ;
X [ L 2 1 1,046,210 | ¥Amb=X i 1, 100 m
B RKE-FL5 - 305 W=15em# i JE 1. 5mm B
IRMESREEA
TR X R 40 m
M K- e 30 W=15cm¥fis JE1. Smn ;
X E R L = 1 1,196, 800 | [XHEIKRIE = 1, 100 m
V4= 2y b W=15emif A
HEAT B MR T = 1 275, 600
EATEY L = 1 275,600 | HLARSY BEIE 10 i
AT IR ¢80 H=800 HEEFE ¢ 250 ;
% T = 1 314, 250
AR IEE BT 2 1 314, 250
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R PERE
THEL | A6 FERERE - PSR IR P IX B T
THEXSy - THE - FE5 H7 & & # i Gl 2 N

[P % 2V 1 7, 305, 700
Hm IR E E20 1 2, 033, 000
e Tre: X 1 264, 000
BUGBREIUEL (REH L) 2V 1 264, 000
sty (R L) 2V 1 1, 769, 000
ol T 2V 1 9, 338, 700
e R E20 1 6, 106, 000
T AT 2V 1 15, 444, 700
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